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| mg~L - - - - — mHEhaLoE|
mg.” L - — — — — 0.005LLF
mg.~ L — — — - — 0.03ELF
| mg.L — — - — — 0.1LLTF
| me. L - — — - - 1ELF
| meL - - - — - 05LELF
| mg L — — - — — 01ELF
me. L — — — — — 1ELTF
| mg/L — - — — — 0.003LAF
L mesL| - - — — ~ OIBLTF
! me/L — — — — — 01LTF
i mg/L — - - - - S 02BLF
| mgL - - — - — 0.02ELF
| mg/L — — - — — 0.04LLTF
mg.” L - - — — - 1LLF
| mg~L — — i — — — 0A4LLTF
me.” L — - - — — 3L
meg.” L - - — — - 0.06LLTF
meg~ L - - - - - 0.02ELF
"mg~L - - - — — 0.06LLF
meg.” L - — — — — 003LLTF -
meg~ L — — - - — 0.2ELF |
mg.~L — — — — — 0.1ELTF
- mg.” L - — — — — 01ELTF
mg/L — — — - — 10LLF
mgL — - — — - 230LLF
gL — = = = — 15ELF
mg.”L — - - — - 200LL7F
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mg.~L — — - — — 60LIT
' mgsL | 9.0 10 10 11 10 90LITF
mg./L 1 1 <1 1 < BOLLF
mg.~ L - — — — - . BEF
mg L — — — - — 30LLF
mg.” L — - - — — 5L
mg.~ L - — — - — LT
mg.~ L — — — - — 2L
mg.~ L. — - — — - 10ELTF
me.~ L 0.19 0.18 0.19 0.23 0.24 10LLF
mg L — — — — — 20T
8.~ o - — — — - 3000LLF
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mg L - BEHEhil ok
meg.~ L — 0.0005ELTF
mg.sL - C0.003LLF
ma./ L - 001BLF
ﬁg/L - 0.05LLF
me~L - COIUTF
mg.~ L - | BHEhANCE
mg L. - mEShialL &
me L - 001LIF
mg L — 001LLF
mg- L - — - 0.02LLF
meg” L . - -0.002LF

mesL — 000481 F
mg.~ L — 01LIT

. mg~L — 0.04LLTF
mg.~ L - LT N
gL —~ 0.008 1L T

- mé/!. - 0.002ELF
me. L — 00065

- mg L - 0.003LF
me./L — o.ozlﬁ'F
mg.~ L — 0.0‘IJ;J.'F
me. L — 001
mg/lL ‘ — 0.05LLF
mg/L - 0.0028LF

pe—TEQ.L, - 1LUF




EEme (Hﬁuszfﬁiﬁi_ﬂs}ﬁw Ei—é*‘*ﬁw&%ﬁﬁ%wmiﬂﬁl._azé
#*EI_EQT%EJE

(M)

1. lEZEL T—ﬁﬁ




AEHEE)
EERIE S

FE

e

i & 25 e 3 TR




